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Practice C .
For use with pages 64-70 R

Graph the numbers on a number line. Then order the numbers from least
to greatest,

1. 4, -2,and0 P
| ~2,0, ﬂ
-2-1 0 1 2 3 4 -
Telt whether each number in the list is a whole humber, an integer, or a
rational number. Then order the numbers from least to greatest. Lo Wwar g W ("“‘)
QE ¢+ ¢+ +s5 & 9 I:]l\}TE:G‘EQ.(NNh
5. —=,1.6,—0i67. 0.7 6. —5.025, l.3,§
3 . '/ 3 R = RAatTionNw .
= ~2 - 25 1. ALL RAT N
L,75,.7, 0 H, 18,25, L RaTLS
For the given value of a, find —a and la'. N
7. a-= 3 — 0. " (—.;)3\) = S‘Ié-’}
: lal = |-Sl) = G3)
aluate the expression when x = :—6.25.
12. lx[ - 525 13. §- ].x 14. '—xl +(=x) =+

| | .
(.25 =25 5(7) ¥ (Cas) = (50 .as+ (<= L.'Z-SB - :DZ'S

m Practice C .
For use with pages 73-79 !

Use a number line to find the sum,

1. -7+5 -2 ' 3. -13+(-8) (-2
a. 19+ (=50 (14) 6. -9+ (-12 @:1

Find-the sum. —EAACT 100 PRO(GLENS = ANSWE Ls W, TH FRACT guS |
7. C125+32 - 4.3 8. 17.6+(-48) /13.%
e et 7
\ 3 [ 'y i) 2 l '
10. -6+ 105 4 18 11. 3§+(—63) ..Z hs
13. 421 +(=36) + 24 gl g1 5 g
; (=1.6) 3.0_\_ ' 15, 43+( 62)+8T§ ....02‘ /'_z"_A

raluate the expression for the given value of x. ‘
16. 24 +x+ (-18);x= —68 {Z?ﬂ 17. 42+ |—x| +(-68):x=6 @W
____-—""/.

Solve the equation.

18. —J+x+14= 6|;Q_.f"‘§"[ 20. —98+x+62=0 ]:X= 3‘;__,




Practice C

For use with pages 80-8%
Find the difference.
1. 245~ (-16) 4“o.§
a. -96-(-148) S.A
7. 425 -(-68) \.0%

SRIA N N

Evaluate the expression when x = —8.25 and y = 6.9.

13. x -y +6.1 k:?c,gj 22. ~63+x—(-y) [....7 LS s

 29-yix |-kas | Fﬂ_—w!
19 vy | 2 23, |—x| + 1425, IJQ-L-»

ICU Practice C
2 4 For use with pages 87-92

Find the product.

1. -15(4.3) \ﬂ£4§J 2. o
A —6250.1) (:EC@ 5. 17(766) L"Eﬁg
i ansn [6.]

10, é(-2 3 _
]

Identify the property illustrated,

13. -1-()=-x» MUT PROPEeTY of -|
19. (=10-13):2=~10-03+2)  /1ss0ciative -P'?—Wszl‘f

15. (%'4)(5)=(4'§](5) Commuu".'ﬁdg P%P\-_R.T“/

ES——— — @ wi) (3@)( (23) Comm. P

-7.6(25) [~1q

-

Find the product. Justify your steps.

16. —-5.5(0)(2.6) =|O 7. —7x(3.5)(2x)

MULT ProPerTN oF 2 gro 224 _sm;() Produ ct
Evaluate the expression when x = —2.5 and! = 1.2, 24K d P AR famm. P
19. 3x+y (@ ' 20 y— 5x (15 | r}i -49 x-X Pradict
il B ~y4qx2  FProdich

25. Lake Eyre The lowest point in Australia is Lake Eyre. Its elevation is
— 12 meters. What is this elevation in feet? Hint- Use the fact that

| meter = 3.28] feel - £y
KX~ Ve =3.28) “\200 o 328\ 5% —_—
- 3’ 4 = |3 .3.12&1»\

Lowsest Q01AR = |2 m VoA



m Practice C ;

For use with pages 96101 !

Use t:distributive:ropfrt to-writ_\g\g\n equiMsion.
1o+ [SxEHSK] 2 S8 |2z -loX

£ S -
a. (lox—%—7x)@s. 5(_3}— ) \U4x=-Nze

—

—_— —~— |
Y6 — dvieee X 2
7. =56 4x)l_q % | 8 7x(8x +2) \(p)t + 3/2X \sz‘__(,_{_iS_)(_ l

ldentify the terms, like terms, coefficients, and constant terms of the ) 7
expression. Terms: -Zxx, 3K, ED&J“ l Terma : f"xLJ _b‘; ‘/_S:x_s '
<63, -%
10. -2 +3r+5c-1 LT's: 3x, §x 12 632~ 3x+ 1 — 552 4 2 é:t:ﬁ;ks': \2
CotF: 2 3,5 CowsTT: - ET's: bxt e Sx®) |2
Simplify the expression. T i _
13. 3Gx~ 1) +7 |'$ﬁ—*_"‘_L 16. 7(x - 3)-2¢ = In-2b-2X :@
:‘“‘* . '__;_ s
16. 10x —3(2x + 8) 10X ~L ¥ -2% = | Yx -24 18, 14x — 53 — 2x) 14X ~1S+\0X = }Li"_./
19, @ S1)=2) + 15x - Ky4+2 41T K = Ix 42 21. 20 - (8 — x)(~3)
— 20 -[-24435 )= 204283
Translate the verbal phrase into an expression. Then simplify the expression. }'33 +44 [

22. Twice the difference of § and x, increased by the product of 2 and x |9. ( S-X\ +2x2] 10
23. The product of — 5 and the sum of x and 8, decreased by the product of 3 and x \—S (X .\_%) _%x:‘-ﬂx-"‘li\

24. Quilts You are using splid colored fabric that costs $.06 per square and patterned
fabric that costs $.10 per square to make a quilt. You need 660 squares to complete

the quilt. Write an equation that gives the total cost c as a function of the number n’

of solid squares used. Then find the total cost if you use 200 solid colored squares.
- ‘
KI: Sous $.06/ Squnes Voeidotes: C= Totae Cowt $'S

Povtera $o10 / Sumz N2 Eof QULT SQUALSS (souia
Need LLO SQuacLey blo~n= % PARERN SQuaces )

Practice C t € %008 +.1(beo~n)] /7/7
For use with pages 103-108 l—é& ¢ ‘200\ - lf.d'b"l‘ 5%

¢ =06 (206 1.1 (g0

Find the quotient. LEOVE Answe ey AS F‘QA'CI—;ON'S

1. —28%(—3) = "%f" “i :lE 3. —§+4 n h%‘“‘c '1? "'-l-i/?’zl
-z—- :I}S/s l . 6. —%+(_5) ',lo‘-"g "_'\TISO \

3
7. 20+(—-] = 20«75 _ Lo ; -
Lt f_l_, =R - 5 :l"3’5[/3 zﬁ Z
Find the mean of the numbers.
10. -5,1, 16,7 1. 74,-83,95 -106 12. —3.5,({—21’;‘, 11.2, -36
— -’a e — -~ » e
oy ™ —_— - . —_— . el
3= [335] v |5 T <o

Simplify the expression,

—7x + 21 24x — 48« 24 1 J8x — 28
18 A2 K-3 7. 12 o T{"‘:'-sz & =2 = =194+t



--Graphing- Calculator Activity:
— Evaluating Expressions

For use after Lesson 26

KVEI0 How can you use a calculator to evaluate expressions?

BTN Evaluate expressions

Use a calculator to evaluate each expression. _
Ma.) —254.044 + (—63.851) 3041="=789)
/

M\ 230,595
~105 X (~878) (d.) T N~

Solution

Use the following keystrokes to find your answer.

R 254044 BB #3) 63851 pag
3041 55 B 750 g8

#27 105 B8 29878 55

@ 8 230595 B3 120 B2y

m Use a calculator to evaluate the expression.
1. - 2 + 65,244
36,952 + 65,244 7 £,292

3. SBA3X(=377) < Y707 SN
~69.951 /N 322_)_‘/_,—'
4. @ 6. 21,036 —34,699 _ 13,063 '
7. -962 x 48 “'-h,’lﬂb o “20.(-d5)
. P——

"1 =438 l



